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Advanced multiplication and division; x and + by 10, 100 and 1000

Name:

20x 10 = 467.5 x 1000 = 10% of 480 =
400 + 100 = 50000 + 1000 = 10% of 3600 =
30 x 1000 = 243.8 +10 = 1/100 of 860 =
0.73 x 100 = 30x10= 1/1000 of 7500 =
65 +100 = 1.879 x 100 = 1/10 of 9 =

0.08 x10 = 270 + 1000 = 10% of 1000 =
0.12 x 1000 = 0.7x10 = 10% of £5.30 =
41200 + 1000 = 05 +10= 1/10 of £17.20 =
5490 + 100 = 0.003 x 1000 = 1/1000 of £12450 =
8240 x 100 = 450 + 100 = 1/100 of 5000m =
0.95x10 = 8 x 1000 = 1/10 of 60m =

24 +10 = 3600000 + 1000 = 10% of £986.30 =




